


A loan of 34,370 is returned in a

installment 27 jinstallment is twice of
Ist installment and third installment is

3/4t" of second installment. If
compound interest rate is 10% p.a. for
whole time. What are 3 installment.

34,370 @ &l 9 o fewar 4 qug
foar | Ugell fowd & g @
ar R e qudl feawa @ 374t @ afe
yof g & fov amafg <9 1 <X 10% &
il fewa & afdr 2

= Wn(+§vxt30W) 6000,12000,9000 3\‘ m]x‘...mm

——————b) 8000,16000,12000 ‘%"
LoV (c) 7000,14000,10500 3‘@1-5\3‘3 =9

) 9317,18634,13975.5 ‘1(“







The sum of money which is given on
compound interest at 18% per annum
would fgtch Rs 960 more when the
interest is payable half yearly than when
it was payable annually for 2 years find
the sum.

ﬁﬂﬁaﬂq‘\rw%mmaﬂmﬁ@ﬁ
Jelaiis wu 4 waifora awgfs <
mﬁﬁwﬁﬂﬁmm&'mﬁ%o
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(c) 60,000 @ (d) 30,000




What is the least number of complete

/\‘ears in which a sum of money put out

,g n at 37.5% annual compound interest will
be more tha

37.5% dIN® aphqfls qara @1 ® 4 &

T3 g d9-4—d9 fead ol awf 9

forgft & warer @t o |
(a) 2 (b) 1

(c) 3 \/‘4)4
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If a sum of money grows to ﬁt:vr
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W“I _ 2= (1.19003264) times when invested for

S, $Z$— A ssss—

]QI \] two years in a scheme at compound

interest. Haw long will the same sum
R becom of itself, inves}&at the
- IN +»» same rate of simple interest. ) G
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| (a) 24 year [})’22 years

(c) 20 years (d) 18 years



If the amount received at the end of 2rd
and 3 year at compound interest on a

cerfain principal is Rs ,28,090>and Rs
@ espectively. What is the rate
of interest.

fesft e W awgfg A W W 3R
‘g[’ﬂ_ﬁ a¥ yra @9 areh i 28,090 wud
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Gaurav borrowed a certain sum at
certain rate of interest. If instead the

3 2 sum was borrowed at compound
_@/‘\& interest, the interest for the first two
30$ . leo years increase by Rs 100. While the

total interest for the first three years

3 R@ﬂncreased by Rs 305. Find the sum.
> <l TRa 4 B GRINT WERY 45 $1 <) 4
e SuR off| af g8 oIl asafy < @)
X 9 off gt @l < 9 4 100 wud AP
G e 21 wear akk 7 a¥ ¥ 305 v
Yy Aferd a1 gsal & A G Fd H
oy éqwla) 20,000 (b) 30,000
(c)40,000 (d) 50,000




Gaurav lent out a certain sum on S.I.
and the same sum on C.I. at a certain
rate per annum. He noticed that the
ratio of the difference of C.I. and S.I. for
3 years and 2 years is 25:8 respectively.
The rate of interest is.

TiRa v frefaa axf¥n e fefaa e
TSl ®l G 4 dUT 981 g 99 &Y W
aABhqfe 1 & WU A FT Qdl & 98 q@dl
2 f& 39ad @& foav C.I. 9 S.I. &T 3I=X 2

A @ foIg C.I. 9 S.1. &1 =X &I IUrd
25:8 & dl &6 X S $RI 7

(a) 25 % (b) 20% @

(c) 30.50% gy 12.5%



The CI on Rs 5000 for 3 years at 8% for
Ist year, 10% for 2nd years and 12% for

SWO\’ 3rd :
rd year is.
Yoo 5000 ©9d X 3 ¥ &1 CI fda-r g afe

Qv Yo TSl B ¥ U8l 99 8%, WX 99 10%
oo 0% Y9 dRR a9 12% &l

(a) 1652.83 (b) 1652.73

J4 1652.80 (d) 1652.77

it T Q)




The CI on a sum in 6 years is Rs 4000
and CI on same sum in 12 years is Rs

9600. Find the sum.
feed frefaa iRt w6 avf &1 awgfEg

79l 4000 ©UA qAT 12 a8 &1 dAHhqfg
9600 2 eIt - HTd B ?
(a) 12,500 (b) 12,000

AC) 10,000 S(d) 15,000

5%
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The CI on a sum in 4 years is Rs 3600
and CI on same sum in 8 years is Rs
8400. Find the sum?

- T Prefr eI W 4 aut @ aa»—{fz

% Y 19 3600 ®UA TAT 8 T $T dphhe
8400 wUU © HTT ATd I 7
3600 4800 b

(a) 11,000
3 Y

=3 3660
S~ (080
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A father left a will of Rs 35 lakh between
his two daughters a 8.5 years and 16
years such that”they will get equal
amounts when/ach of them reach of at
the age of 21 years. The original amount
invested at 10% p.a. simple interest.
How much did the elders daughter get
at the time of the will?
ush fUar gt 41 e 89 8.5 a9 9 16
q¥,d = 7 35 HUd A wUYA U dVE
g fo S9@)1 9° 21 99 g9 W) S
= 1 g ' 21 afe g ¥ 10%
e |rEReT &9 ®F o)X 9 faY a1 W

dl 991 41 &) g Sra I

(a) 17.5 lakh (b) 21 lakh
(c) 15 lakh (d) 20 lakh




Gaurav lent out two equal sums in two
parts at the rate of 8% and 7% per
annum on simple interest. If the former
is recovered 6 month earlier than the
later. And he received equal amounts of
2560 each from both the parts. Find the

principal.

MG 7 8% 3NN 7% DI ATHRYT &GSl Bl G
WwR & g9 g SR €)Y afe gud
g RIRT & WATT Ugofl g3 6 #18 ugad o
oAl Wit 2 af I & ™S 9T 9 %
2560 &1 g9 g gidr & df oo+ drd
a 128 7. -ﬂ%o
(a) 4,000 J{

(c) 1,000 (d) None



(b) 15%
(d) 20%

Gaurav invested Rs 17,500 in scheme P
which offered simple interest at the rate
of R% for two years. After two years he
withdraw his principal and interest and
invested entire amount in another
scheme Q. Which offers simple interest
at rate of 20% for two years. If he got
total interest of Rs 8680 after two

years. Find the value of R?
M9 4 17,500 ©Ud U @MW P 7 9

feg &t gyfdad R% @ s¥ 4 2 af &
AEIRY ATl ol 2 & 98 916 9 JdAu-

R «arel e forar ik il g vif¥ &
T W QA A s A ol fv 299 &
fag 20% gfaad @1 g% 4 R @ Qdl
e Ifq S9 Q1 a9 919 o Aol 8680 HUA
9T B3 o R &1 A9 SATd BRI




The compound interest on a sum of Rs

5500 at 15% p.a. for 2 years when the
interest is compounded 8 monthly.

15% gfrad # <% & 5500 o @ IR W
Ipqfe TS A PRI O AT 8 Held A

Sox 33l iR

(a) 1580 Y (b) 1880 P

J\«M‘ﬁ-( M;Q (d) 1773.75 f’

3 Rm-igy. @
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Gaurav and Azad have to clear their
respective loans by paying 3 equal
annual installments of Rs 30,000 each.
Gaurav pays 10% per annum of simple

interest while Azad pays 10% per
annum compound interest what is the

difference in their payment.

MRG AAT IATSIE Bl JYAT ol gdbIH & fog
3 ¥¥M aiffe fewa 30,000 ®Ud B g+l
gRfl| MG 10% AERY AT BT HIA
&HXAl & dUT 3ATNTe 10% dhgfa dTol &I
HIAE &Rdl & dl 3Dl {Idr & i3 4

3=}
37300 (b) 600
(6 (c) 100 (d) Not













The compound interest of a sum in 8

2 3 years is Rs 400 and compound interest
of same in 16 years becomes Rs 1,300.

@ Find the compound interest in 20 years.
8 a9l # s WIRT &1 dhqfe arel 400 ©Ud

\100. 16 a5t ¥ St W1 &1 awqfy <
300@11131@@% dl 20 9T # 99

H/-\ o1 amqfs @ Bm? U0
3 a) 3,165 b) 2,800 ~%2 O

16 R c) 2,250 2,110 —,zﬁ'b'
3 U $‘>\{w
@ L 1R
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(b) 15000
(d) 21000

Gaurav invested certain sum in three
different scheme x, y, z with the rates of
interest 8% per annum, 9% per annum
and 10% per annum respectively. if the
total interest accured in 1 year was
8130 and the amount invested in
scheme Y was 180% of the amount

boy. _gnr g:ed in scheme X and 400¢ less then

vested in scheme Z. What was the
P

odr
(e@2 -?nou t invested in scheme Y.

Mg 94 9 AT IR0 x, 5, z A
1ol B g3 8%, 9% 3R 10% yfaad &1 %
4 Iy fear afy 1 9o o sifvfa sa «amw
8 130 wUA T 3R JIe+=T Y # fAder &1 w8
AR gioFr X # ffawr & g af¥r &
180% oft 3fix Al Z § fAder @1 gaar A
40% HH B dl o+ YA fFder &1 18 afd
:2) 1



Difference between simple interest and
compound interest for second years is
Rs 12 and simple interest for Ist year is
Rs 80. Find the compound interest of 3
rd year. If rate of interest for 3 years is
in ratio of 2:3:4 respectively.
TR 9Td & iU ERer @are 91 awdfy
ATol ¥ X 12694 8 a1 Ugd ATd &l
TR 19 w93 80 ®Ud 2 | dl dR wT1a
&1 dhqfe < qarnl afe 3 9rd & foy
GX BT IUTd 2:3:4 2 |
a) 202.4 (b) 200.4
(c) 180.4 (d) 164.4




